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@ bon phan so, thir ty cac phép toan

Tén: Ngay thang: Diém:
é-l—lxé-i—l: l—48x§+8:
2 6 4 6 - 5
10x%+1—1: %—l—lx%:
3 3 5 2 3 5
1 1 3 1 1T 1 1
—_— e — — X = = —_F — X — 4 — =
3 6 2 4 6 2 5 4
14xl+7—%: l—l—éxl:
6 3 6 2 5 4
1 1 1 3
4 —=5——= — =5+ ==
5><2 5 3 35><2 5 1
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bbn phan s6, thir tu cac phép toan

Tén:

W N
I
T

W —

1
14x = =7~
6

N —
I
N

1
45 % = +5—
2

Ngay thang: Piém:

| 3 67 7
g BX578= (5 =B)
2 1 1 3 3
S5 5x =05
5 2 3 5 10
1 1 1 1 31
—_F - X -4 — = —
6 2 5 4 60
I 1 3 1 29
c-5mzx =02
6 2 5 4 60

3 17 1
39X — =5+ —= — =4—

4 4 4
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